Subject: Re: Questions | would like to pose to athiests
Posted by R315r4z0r on Fri, 14 Jan 2011 01:19:18 GMT

View Forum Message <> Reply to Message

Spoony wrote on Thu, 13 January 2011 19:52anyone watched the lecture i linked to?

sum total of the universe is zero thanks to negative energy. matter and energy are
interchangeable. so if he's right, the universe can come from nothing.

| think it's the other way around... but | have no experience in this so correct me if I'm wrong.

1 + -1 = 0. With energy plus negative energy you get nothing, correct?

But doesn't that only work in one way? You can't add or subtract something from nothing and get
something, but you can add or subtract something and something to get nothing.

0+0-0=0
and

0/ X=72?2??7?
but

1-1=0

Let's say that 1000 is the value of all energy in the universe. Let's also say that -1000 is the value
of all negative energy. If you combine these two entities into one, you get nothing in return.
However, how do you go about doing that in the other direction?

That theory shows that it's possible to obtain nothing by combining everything. However, what it
doesn't explain is how to divide nothing to gain something.
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